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QUESTION 1

Which two block storage protocols are supported on vSphere?
A. SAB

B. SMB

C.IsCsl

D. NFSv4.1

E. NFSv3

Correct Answer: AC

QUESTION 2

A vSphere administrator is unable to remove an ESXi host from a vSphere Distributed Switch (VDS). Which two
reasons could have caused this issue?

A. The VDS is configured with ingress traffic shaping.

B. Virtual machines network adapters on the host are connected to the switch
C. Virtual machine network adapters are faulty.

D. The ESXi host is connected to another VDS.

E. The ESXi host had VMkernel adapters assigned to the switch.

Correct Answer: BD

QUESTION 3

An administrator would like to add a new server into an existing vSphere cluster. The servers are running Intel
processors. The administrator needs to ensure that the new server can be added to the cluster with the same processor
baseline as the existing servers.

Which strategy should be used to achieve this goal?

A. Fault Tolerance

B. Enhanced vMotion Compatibility

C. vSphere vMotion

D. vSphere High Availability

Correct Answer: B
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QUESTION 4

Which object-based storage can be used to store virtual machines?
A. NFS

B. wols

C. RDM

D. VMFS

Correct Answer: D

QUESTION 5

Which cluster file system is used by ESXi hosts to store virtual machines?
A. VMFS

B. SCSI

C.NFS

D. SMB

Correct Answer: A
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